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1. 1 -2x+ X°
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2. x° + 64 + 16x
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3. 100x* + 100x + 25
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4. 25x° - 10x + 1
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1. WINAAUSSNIUVDY X2 — 16

xX>-16 = (x+4)(x-4)
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2 quanNMIUSZNaUVRY X2 - 81

x* — 81 = (x+9)x-9)
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3 9LENAIUSZNAUVDY 4x°% - 9

4x* -9 = (2x+3)(2x - 3)
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1. LENAIUSENUVDY XE — 16
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YN X% -16 = x% - 472

(x + 4)(x - 4)
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N1 X -81 = x%-09?

(x + 9)(x - 9)
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591 4x% -9

(2x)? = 37

(2x + 3)(2x - 3)
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X% — 2°
= (x+ 2)(x - 2)
-4 = (x+ 2)(x-2)
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= (6x + 5)(6x - 5)
90 36x° — 25 = (6x + 5)(6x - 5)
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iy Lusnvia 11 :NITHENAIUTENDUVBINHRUINANTFDITTUNAFIIVDINTAIEDS

ATwas TRlnReuLenAUITZNUYRINLNUANTaaIuNasIa

YpaN1asdasluLsazvasalull




iy Lusnvia 11 :NITHENAIUTENDUVBINHRUINANTFDITTUNAFIIVDINTAIEDS

ATwas TRlnReuLenAUITZNUYRINLNUANTaaIuNasIa

YpaN1asdasluLsazvasalull




iy Lusnvia 11 :NITHENAIUTENDUVBINHRUINANTFDITTUNAFIIVDINTAIEDS

ATwas TRlnReuLenAUITZNUYRINLNUANTaaIuNasIa

YpaN1asdasluLsazvasalull

6. 36x2 - 400
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7. 25¢2 - 121
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8. 256x% - 169
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1. x2-100

N1 X2 -100 = X% - 1072
= (x+ 10)(x-10)

MU x° - 100 = (x + 10)(x - 10)
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ATwas TRlnReuLenAUITZNUYRINLNUANTaaIuNasIa

YpaN1asdasluLsazvasalull

2. x2-81

N1 x°-81 = x?-09?2
= (X + 9)(x - 9)

MU x°-81 = (x+ 9)(x-9)
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3. x2-225

N1 X2 -225 = x% - 152
= (x+ 15)(x - 15)

MU X2 -225 = (x + 15)(x - 15)
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‘ ax? - 1

WM 4x° -1 = (2x)?%-12
= (2x+ 1)(2x-1)

MU 4x° -1 = (2x+ 1)(2x - 1)
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YpaN1asdasluLsazvasalull

5. 81x2- 25

N1 81x% - 25 = (9x)? - 52
= (9% + 5)(9x - 5)

MU 81x°-25 = (9x + 5)(9x - 5)
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6. 36x2 - 400

3591 36x2 - 400 = (6x)° - 207
= (6x + 20)(6x - 20)

MU 36x° — 400 = (6x + 20)(6x - 20)
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7. 25¢2 - 121

3591 25x% - 121 = (5x)* - 117
= (bx+ 11)(bx -11)

MU 25x° - 121 = (5x + 11)(5x - 11)
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8. 256x7 - 169

3591 256x% — 169= (16x)* — 137
(16x + 13)(16x - 13)

MU 256x° - 169 = (16x + 13)(16x - 13) |
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